
Uni

Cup

The 1st Universal Cup
Stage 9: Qingdao, March 25-26, 2023

Problem B. Kawa Exam
Input file: standard input

Output file: standard output

Time limit: 3 seconds
Memory limit: 512 megabytes

BaoBao is taking an online exam of the Kawa programming language, which consists of n multiple choice
questions. The exam is not easy, as for each question, BaoBao needs to select the one and only one correct
answer from 105 available choices! But don’t worry, as an active committer of the famous open-kdk, BaoBao
obviously knows all the correct answers.

Although BaoBao is an expert in Kawa, the developers of the exam system are definitely not experts in
software engineering. There are m bugs in the exam system, and the i-th bug can be described as (ui, vi),
which means that BaoBao must select the same choice for question ui and vi (even if the choice he selects
is incorrect!).

Time is limited, and the exam must go on. The developers only have time to fix one bug. Now the
developers are wondering, for all 1 ≤ i ≤ m, what’s the maximum possible number of questions BaoBao
can correctly answer if they fix the i-th bug. Please write a program to solve this problem so that the
developers can select a proper bug to fix.

Input
There are multiple test cases. The first line of the input contains an integer T , indicating the number of
test cases. For each test case:

The first line contains two integers n and m (1 ≤ n ≤ 105, 1 ≤ m ≤ 105), indicating the number of
questions and the number of bugs.

The second line contains n integers a1, a2, . . . , an (1 ≤ ai ≤ 105), where ai indicates the correct answer
for question i.

For the following m lines, the i-th line has two integers ui and vi (1 ≤ ui, vi ≤ n), indicating the i-th bug.

It’s guaranteed that neither the sum of n nor the sum of m over all test cases will exceed 106.

Output
For each test case output one line containing m integers c1, c2, . . . , cm separated by a space, where ci
indicates the maximum possible number of questions BaoBao can correctly answer if the i-th bug is fixed.

Please, DO NOT output extra spaces at the end of each line, or your answer may be considered incorrect!
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Example
standard input standard output
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Note
The following table explains the first sample test case.

• The “possible choices” column indicates a possible set of choices to each question BaoBao can select,
leading to a maximum possible number of correctly answered questions;

• The “correct” column indicates the number of correctly answered questions using the set of choices
provided in the “possible choices” column.

Bug No. Possible Choices Correct
1 (1, 2, 1, 2, 1, 1, 1) 6
2 (2, 2, 1, 2, 1, 1, 1) 5
3 (1, 1, 1, 2, 1, 1, 1) 5
4 (1, 1, 1, 1, 1, 2, 1) 5
5 (1, 1, 1, 1, 1, 1, 1) 4

For the second sample test case, no matter which bug is fixed, BaoBao has to select the same choice for
all the three questions. As the correct answer for each question is different, BaoBao can only correctly
answer 1 question.

For the third sample test case, note that even if the developers fix the first bug, the second bug is still
taking effect and BaoBao still has to select the same choice for the two problems. It’s the same if the
second bug is fixed.
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